Prove each identity.

1. cot®
cos®

5. 2c¢8c0 =

= csc®

sine

sine

1+ cos®

1—cos®

2. cot® + tan® = cecO®secOd

1 — cos%®
cos®

cot?@ —1-

cot?® + 1

s coc® = tan®

= 2050 ~ 1

Joke #39
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Name

— Remember

Basic Trigonometric Identities

Use the following basic identities to obtain equivalent forms.

Quotient Identities Reciprocal Identities Pythagorean Identities
tang = snB’ cosf 0 0309:#, sing =0 sin® @+ cos® 9 =1
cos6 sin@ ‘ _
coté):C?SO, sin 0 secl = , cosO#0 1+tan® 6 = sec® 6

sin@ cos@
cotezL, tang =0 1+ cot® 6 =csc? 9
tano
Example: sec@-sinftan®
= 1 - sing.fiie_ Change to sines and cosines.
cosf coso
02
_ 1-sin"6 Combine fractions.
cosé
2
_ Cos 4 = cosé@ Replace numerator. Cancel cos 8 # 0.
cosf

Connect equivalents.

1. tanf@cscl o
2. cscOsinf-sin’6 e
3. sin@csco ®
tang
a seco Py
coto+tané

5. (1 —-cosO)(1 +cosf) e
6. cscH - cotf e

7. cosB(tanf - secH)

tanf +siné
cscl+cotf.

[+
e

® 5 1-cosd
sing
® b. sind
® <« sech
® d sinftanf
L‘ ® e cos’H
o |
csc? 0
® g cotf
® h sinf-1
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Write the uncrossed letters in the spaces below to reveal a message.
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